Answer on Question #69102 — Math — Algebra

Question

1. If »'§—1+u"§+l

WE+1  4E-1

=a+ b5, findaandb.

Solution
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Answer:a =3, = 0.
Question
2. Simplify: 1/(1+ V2 — E] by rationalizing the denominator.
Solution
1 B 1(1 —v2++3)
1+v2—v3 (14+V2-V3)(1—-V2+3)
1—v24+43 _l—\."E-F\.'E

C1-VZHVEHVZ-2+V6—V3+V6—3  2/6—4
_1- VZ+43 B [1 -2+ w@)[m@-l— 2}
C 2(Ve-2)  2(Ve-2)(Ve+2)
_WVe+2-4y12-2y2+18+2y3
2((Ve) —22)
VE+2—23-2V2+3V2+2V3 2+6+42
- 2(2) - 4

ZHERZ
Answer; /=

Answer provided by https://www.AsignmentExpert.com



https://www.asignmentexpert.com/

